WS 54 —KEY: OPhmizatvn — Cevvs Mixims [Pa-1 /e

O N = 4ooo + #5¢ "~ & ) Rote of Grontth =W L)
A/;’(é) = D4 - Bt We Mot @/)‘/fw‘;zg s 4.
/)/H/f) = P-4t = ) 70:"@1‘;) 7~ = ZQ = /_54/5{75)_90‘” /5%0/&:1 @

® M.f_es,zq_ Constrint-eq

4(»”7[#[ (*/’ /z/é{/'/—»w/(-—zc@ =0

| Z’KTEK‘V':;“)’I—;}/V;} ) =0
(-4 [G-) =] = 0
-2 _,

when 24726 P A[\FZ Lfﬁ(tf’ 4-2
= U_chm ’]&‘ﬂ'am H—E‘_T—)




WS 6.6 —KEYL Ophmigatyn,  AtcoLss Migimos [F3-2/¢

Primary €4 constonint eq
- \I Z / ‘
v Lt:j (1.:; 3_5/‘7‘) b=V D ey $77
i ! v D= S ax+) H(E )
. winimizes Do)

x;3 Let RK) = Padvtand, /40';4//:4}%1‘:47 )
! /Q/X) ,,/k’&,%ﬂ + ~BIZX +b
D(l) = 47 V1585 /?[}() = %2*__5\1—{%‘/2- + I3 , €4 S &
D(BY=F K’ - -z
e bz 24 HZx T =0
Dy = +4 SEXAEYY P iyziqz?:_ 2EL=0
0 MiN distance pccurs z_(xyizd"i) _ oo " G
When XZ2 aH%ePaim‘ ERVES me );3/232_;:
| 2 \
= Y=z = (8

‘ LN / TushSeafron e F JTe
@ 1/:%_'_’:_2 £>0, v )= M =o ¥ t;e,erw{g:asv’K@wE:gﬁ%e
t 3 £ ViD) >0 V‘/Zt’:(é‘;e’) and

e L s i e

whot /’f"hf:[o V(L) <o Véé(eﬁ”)
MMWDA?&,

@ jf//,((): %)L‘/f—;/*ﬂ_/,sj ’#}X) = g)cs—x¢kp7
Fog)e #y™ g ?=0

‘?l)( L( / —~X) 7O Py=o +—3m ler
W F) = % | =5 +— biyge5€7° MAX slope. o)
we bage TO & peal o £ (’XJ r's /mx,m,‘zgo/ -”’L- @j

Valves, we must Fied

 Pateadh
2O o itiniais

I Y

Froduet = P=0d 5 Y=2n-?
P: %/2)(,"‘ @) *TMS-H% W {/‘400,:%‘!\60’ 2 [)&V‘r'l/#.ﬂl')
P 2y B Pu/}() =t >p > Jk) s eoncave yp> %(/,e:!&

So YT 2 MiniMizeS %),

PU)=4y-&=0 .
Pl = 2(4-8) =[CBNE]



W L — ’ N 5
S Do — €T Ophmization — GALLVeVS Miximos A
primscyeq.  Leffninher M

oay ) Y%= K +20+9+2Y
I R R e

Sor AeYe
9 A= \,é(zo +30 3}
> Egﬁﬁfﬁ‘ ahor
A= 59 \& 3 Yo Ay ’)-..2_<o/ g Alk)is Crrcare Aowr? ngp,

/I/)

A (u@ 50 -% Sp Y= 29 MAKIMIZES
l =295+ \ ,4(29) 29(58-29) = M

@ mrﬂmi. (.)V:s def . e s oot e st -

ﬁ = 10 (2-3w) + 6(2:Wh) %(z awkj 5o = .,M,; 2)

(= éow wgwln h= =
aud""

% C éd)w‘#‘"f@v\’ 3»&) —""‘("“"jz? @
- 2p \¥3 2\ 20

C= Gow + 2% Jw>o)

()= 720w — B2 =0

20n- 820 - NELS xs\f' L x 'a'"(%#

W hann /?-ow'*’ 900 @
= 3 Bop _,on < 981 EE

% 0{ Mesi o “(9—]\

TzD
O, Pritany eq Costescd 1 (smitor riongls)
y A=O-w)2=y) Lo = Ik

/273
A9 x)(/z-’/“ ) y = /06%/296 It vF

/ 17_
r 9k Al%)( /08 12
=|2%- gﬂc 'Jc>'0 m

A [X) /2~ ‘%’ S =0 * Fushficatond
RO==8 . o Hu>g so Al) i5 dncave

jé 3@ - 2— =
Dz Apwrn %x%>0/ Hs X=L vayinnizes Ade),
4=/2- 4(2)=[AH]

So dimensions are 9 -q by /274

[.5¢e 84 +#]




ws S.¢ *K&'jfﬁfoﬁﬁﬂ;%ﬂ%@m CALCVLVS Mg atus M
e

fm‘ﬂmrg eq. con%jn’f“ﬁ;
\\// =42 zv) | [% So Max Volume

.y = Zfr“& ) r=9- 'S V[a)inr(E)(‘? ~3)
(gt)=7;rr3 (9-1) = 203(Q)

‘N%): /371’5 - ngtsj gé[ai3j :l/z-ﬂ"@ L ‘

VY#) = g~ éﬂ‘gz =

by’ = 18

nimard & CorGlyeint €9 ¥ Tughifcaton

Aj%'& ‘j:—%’%z Hoy=—ex <O for all >0, 50
Ade) & eoncave down MAa>0s 57

b k=n(4-x) >
feofy Py 0<%%2 v= B aximizes A0 .

- A(E _Z A
A‘(x): 4*5){?%0 Mo krea A(Jé)-\)% (/f-* -,3-> r%(%}
%:B;; =22 « ‘ﬁ?’&

— .
@ Let 3= apple yield | Let m= Number of addHoral trees,  Pafiecn lenkifscalon

I
4 (n) = 1 (400 —1pn) + (B0t a)(~10) =0 i O T i
HYpp ~lon — 300 —/om FO 7= Y40) =(zp+ N (100~ 1 10)
—-2.0 100 =O = -20<<D V’J’Lf/f e - o,
i , 3& () s concarednn) " 2t Y(2) (3042 f00-2"10)

Vﬂigz) g =5 _ﬁmnyi? :@ :(53)4—41)[?-‘_;_37 »/a%)« :

4o Tate needs atotal of 30+
e 1‘55 Frees per acre Magimizes Yin Privary ed.
7 princcy cq  @nstminkeq g et -
O A:Zr3+ jgr"” Zv"+23+—1T“r=ID A Zr‘(5 zr‘*(’)ﬁ"’ = rZ
y i +E oo
1&96»'%-;#“? A'(r):]o—zfrr-—'-/'r—fffr“:o
Jo = (2w +4 =Tr)”

o= r(THH

r
me” hM\ h{" 0‘]0 W‘IV\A’OW:S_FF =21 /
X ! rdow =2 &,‘L\J ;L':,r’c'"

Ve pverall widbhof Wi
J0

Latio of overall height }_fl—- U = £ T+
p—wrw% = 2N %‘% fi _,( (Zf_*tg( FEZ)
Z ¥

- - 6('”’-{—2)
» 4 -@r' -
\:3 - 6;\/-1-2.0 - érﬁ‘——iﬂ
T+ 7

sol),

E




WS 6.6 —FEY & Ophmizeation CALLoLvS MAKAYS [P

tPIMarﬂ eq tanstroint eq (6.‘M;(ar‘+r.‘anj les)

@%%&_‘ L=A+RB gr:%' go
l L=y + [y

L= é"f L +W 50 %.o{“f%{’ lodder 1S
,_.,__,._,X.E.’,...- :
L %«W%J—WJ w20 :

L= (xﬂ%?)h £ +1) v,
L0 = ¥ptroyy Y214 T )Rl uet) () =0
(X Fo4)” ”?*E X+ () )] 7

(o) (/’kX//"’i) ©
Xs"é'f’ - 1) het XBﬁé
e A i R —
@ Pr;mﬁ] eq M 5) w

So ?‘F ?’ + /2(-3'2'"0'% —— W/\Mq ?,H?.__z,/zﬁo =2

:—@: &Lo0
J 7

19 ?d #zoo _
w: T v o AT ches]

o o

ErlMar:’ €9

. 28 W=A+13
@A W:‘)(":;»K;L!L +m I

i AR A
it mpa P e P

o [W = ot + —@ax%w %e@'?o’_ﬂ

F R

e s PR

W't = 5% H‘f"f) Y5 + U ox+163 ) H(zx—4e) = 0

= 307X des
¥-5 Wba% si
\Jx It VX é:oxk/@ﬁa 7

XL Xetoxx900 .
= ¥orose Mults
X R E 0 XA16D Y 7 r

%—MH&M,\:L%—WHM& E_BLHOX F12900 "
é?lO)(z;, BotK —129600 = © So miniMmum wire aﬁ% (s Q)

520 (2x*+2ix-w5)=0 (WA= [gl114 + [ 2 5ot

320 ( X —9(2x+45) =0 = (Zzm +7z 2.5

oY 15 + 35 ={50A+]
" X’%Q Base avvest o - Jayi '(9 53130

b= taic' (28)% £330
¥-SAME. BASE ANGLES)]




Wwe S — Kevi O/pﬁ/vu'zodv'am ALV AR A VS [1a.0/c

@ (D\"h {?)D . (3)9) _; -y r‘M“ Oo‘tﬂSHbqh-(— e
ay\(( 7 (K"’é) +( 9" ¥y= 7"}1'
(30) px 49 (9% *9)

Closed nderval Test Let R&> 16 x +9 1">< %CEO 5]

T Z o + ~3
Dod= 3 Ri)= zx ~6+=0 e z 2 3
bz)=2 .z =223 +%-3)=0, w=l s agolubon, &% s

DO ERS 2. = 2 (x N 2XCHZHAB) ZO

£P—;"r'fOS Min bLS‘ﬁlhce @ WS

[—C/{D%\L wt is ( 5)‘

19) Let >0 b vk Wl 2% = 4—"‘" %T:‘;hh%x o

é ) g‘:gi,\,\ e ot posriive namber, 61 X %,3, 6“()(),'____%9 V>0

SHN=1~x="° §o 5(x) S wmfauevP
*= ‘/ m.m.aes ).
e —
. Z—@’IL £>0 be ar')DSI-;ég@ number . S oy + j—,}z
=S, |
S =S S ¢~ 2 =

N gy e T R

Let 7 Ciccunderence A?ZW@W—\QWM(M S7ro;
l LH rdchanﬂ.,

%nre e
m 5 W =5
?(433 ez h’\/?‘S—:—— buk (=65 ©

S %M@_}

Boage of Con € \Zo

- 2T r ne
o 0T —58 =2 \[o) =35 - ,,.,r@\)?,s,(g .,,,9) oozl
r= /gj ii; * doph Hhis on Calcula-f'o:;:
= 5- 26 )2;:9,271‘] Hoj
VLMJ%@
| 5 N

& 24

» oph/m' CW'“”"@@ mal (‘ees*’



